Examine the information in each section. Then, label each as linear, exponential or quadratic. Explain how you arrived at

that conclusion.

1) Table of values:

Name:

hoo

9.6 Do you know the difference?

)

-

a) x|y b) x y X ¥ g 3° o
110 - 207 -1 -3.5 7 .3 -1 5/6 30 190 (040
0|3 _,7 0 | -05 | 0 5
755 V-3 VoYY
1] 8 S -7 1 25 1 30 T ¢ e
2 115 S ’5171 2 5.5 7 é 2 180
3|24 3 | 85 | 3| 1080
Explanation:
Z'J o ifferonce [£F otifFeuence TBq lLoig e Affurines
5 5T, ra(:mfwfs | inaar Sonrs. (a5 Y 50
A ‘iuw}\rz-h“c (:JMHJ'"'
2) Sketch of a graph:
= A > \ > <—4—>

T~ :

v v v

Explanation: Ey’w’%‘ﬁi / (Srow%\ )

L (s &‘.x-.p!ﬂu &
(1
i Wamfaola ingMeses fbl\(—tctl
1
3) Equation:
8) 3x+2y=10 h) 2y=3(8.9) i) y—1= 53 +10x

Explanation:

/u\/\.ﬁ.ar exrof\jm?‘u\[ 7U&JMH‘C
X “\7 A nuaber f“a‘f"} /arjcﬂ' a;’l’luﬂf’?"—
{u a f&r:h‘r[( ,ucak——

' ¥ we
22(onen + 2



Graph each set of ordered pairs. Determine whether the ordered pairs represent a linear function, a
quadratic function, an exponential function or none of these.
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Look for a pattern in each table of values to determine which model best describes the data.
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